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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

7.0

6.8 1

6.6 -

6.4 -

6.2

6.0 -

arnipg: col ["PHC', 'FVIPH'] is missing

10

20

30

40




Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

Warning: col ['FVOPH' ] is|missin

—— PHO

10

20

30

40




5

4

4

3

3

2

2

1

3

3

3

3

2

2

2

Trend plot forP3-10_0

minFVI
minFVO

Warning: col ['minFVlraw , 'minFVOraw’ ] is missing

o ETcAlraw
—  ETcA1l
—&— ETcA

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

000 -

500 -

000 ~

500 ~

000 ~

500 A

000 -

—8—  ECopt :
—o— ECl
—e— ECO

= o = ==\ —R 00— 0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-0-00

K a M

aees s o S o o

500

Warning:—cot—"ECC ] —is missing

Warning: col ['PHC'] is missing

6.0 -
1 1 1 1 . 1 1
1.5 1 : —@— WCperM
1
1
1.0 + 1
1
1
1
0.5 4 1
1
1
o.o—h%—mm—&m—m—&m—m—%—oﬂm—m
1
1
1
9.5 - i
1
1
9.0 |
Warning: col ['WCperMraw', 'WCperMavg'] is missing :
8.5 1
1
1 1 1 1 . 1 1
.50 0000000000000 00000000000 0000000000000 0000000000 000000000 00000090
1
1
1
. 45 1
1
1
1
. 40 1
1
1 —@— minDeltaM
. 35 : —@®— avgDeltaM
: —@— stdDeltaM
.30+m*—m—u—o*—m—m—&m—m—&m—m—&m—m—m—o—o—ﬂ—o—m—m—o—m—m—mﬁ
1
1
i 1
.25 I
1
1
. 20 900000000000 C-0C0-00-00C0C00C0-0C000-00-00C0CC000-000-00-00C-0C00C00CC—00-00
20 1
1 1 1 1 . 1 1
30+m+—m—m+—m—m—+m—m—+m—m—ﬁm—m—ma—m—o—m—m—o—m—wl —o— begM‘
: =0 maxM
98 : —@— minM
1
1
1
i 1
26 I
1
24 ~ 1
1
1
1
22 - :
1
1
1
100000000000 000 00C-0C0-0C-00CC-00-00C-0C0-00-0CC00—000C-0-C0-0C-00CC-0C-00C—C0
20 !
1 1 1 1 . 1 1
: ad JFVOR
i 1
.04 1
1
1
1
.02 1
1
1
1
.00 :
1
1
1
i 1
.02 "
1
1
1
- 047 Warning: col ["adjFVIRraw', "adjFVIR, "adjFVORraw' ] is missing :
1
1
1 1 1 1 . 1 1
. 65 1 .0..Q......Q......Q......Q...O.........0?.0......0......0..1
1

.35 A

.30

. 25 A

FRA
FRC
FRraw ®
FR

60

58

56

54

52 A

50 -

—@— beg wc

0 10 20 30 40 50 60

300 -

250 ~

200 -

150 -

100

50 ~

postFgEtraw
postFgEtavg
postFgEt

tte




o
S)

1
[}
©

6.0 -
9.0 -
12.0 -

15.0 -

18.0 -




¥

PPFD

TTTTT
EEEEE




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

1.0
0.8
0.6
0.4
-0.2

-0.0

| | | | | 1
ETcl ETcldef ETcP ETcPT ETclis ESo ETol ETbai  pR pVPD VN | PPFD T RH



ETcl

ETol

VN

1200 -

1000 -

800 -

600 -

400 -

200 -

1600 -
1400 -
1200 -
1000 -
800 -
600 -
400 -

o %

24 A

22 -

20 A

18

16

14 1

12 4

o0,
[ ) .‘ [ J

80 A

70

RH

60 -

50 A

40 -

o

1200 -

1000 ~

800 -

600 -

400 -

200 -

400 -

350 -

300 -

250 ~

200 -

150 ~

100 ~

50 A

ETcl

T
1000

ETol

200



® obs
2000 4 Fit
1500 -
°
v
1000 - .‘
500 r o
. (
‘ "lb.
0_
0 50 100 150
baiA baiB
0.6721 0. 0251
1.0
0.8 -
0.6 -
0.4-
0.2-
00 T T T T
0.0 0.2 0.4 0.6 0.8 1.

obs

1200

1000 ~

800 ~

600

400 -

200 ~

Fit vs obs: a=1.22, b=-149. 3,

r=0.92 °

1.0

750
Fit

500

1000

0.8 -

0.6 1

0.4 -

0.2 -

0.0

0.0

0.2 0.4 0.6

0.8

1.

0



hour

100

80

:40 - 60
140
:35 - 40
:30
:30

140

2
§_

%,
%

: ‘*@»
%
.

)
-

zé?e. O

T



P3-10

AYiE) | EBIAT (FD) | EBE (EH/HK) | XKR EFRF

08:35 294 150.0 Be| ThiHHe08:35 RHEIEF (KFEZRE)
09:30 294 150.0 RS FhEA@09:30 KENFEF (RAfEEER)
10:40 294 150.0 B5| TNHA@10:40 KRENFEF (RATEREE)
11:40 294 150.0 B5| TnHA@11:40 KREIEF (REAEESE)
12:35 294 150.0 RS ThHAe12:35 KENIEF (CRAHEEER)
13:30 294 150.0 RS FiHRe13:30 KREEF (REAEESE)
14:30 294 150.0 RS FhHA@14:30 KENFEF CGRAMEEEE)
15:40 294 150.0 Be| ThiHHe15:40 REEF (KBAEZRE)
23t 2352.0 (8%) 1200.0 32953 %EC: 2080.0, PH: 6.0

REREBIEC (2660.0) H5iZEEC (2000.0) REI KA, HEE
7 [ERECE (2660. 0 vs 4550. 0) 145




FRV (ml plant-1)

ET (ml/hr/plant)

P3-10_0, Day=45 (2025-05-17)

V1, VBP¥RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 2000
1600
0.4 18 9441 1000 =

0.2 80 - 500
00 00

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=6.0

0.0
7
- 1500

200 1~ ByWoFv @D45
- 1000

100 A

T
()]
o
o

1.0
SN NEZIEE

0.6 1

0.4+

0.2~

0.0
800 4

600

400 -

200 -

o \ A A Warhing:,‘:ol

"PPFD_obs’] is missing

25 A
20 -

15 4

ning: col ['T ol "To_obs'] is missing

10 A

80 A

60

Warning: lcol ['RH obs’, 'RHo obs’] is missing

0.0 0.2 0.4 0.6 0.8 1.0

cumET (ml/plant)



hour

100

:00 -
125 -
80
20
20
- 60
20
:30
- 40
:30
125
20
125
125
I I I I I I I -0
R SR $ &
é§¥ égr %ﬁ» & éﬁ“ 4? %;5 %gr



P3-10

AyiE) | EBIATK (FD) | EBE (BEH/HK) | XHR SRR

07:20 300 150. 0 B {BRi1ge07:20 Bzh (RP{ERE)
08:20 300 150.0 S| 1Ri%e08:20 Bah (REEEEE)
09:20 300 150.0 |Z=| 1{Ri&@09:20 Bz (KAEEEE)
10:30 300 150.0 (2 =| 1BRi%@10:30 Bz (kAFERSE)
11:30 300 150.0 (B =| BRi%e11:30 Bz (kBFERSE)
12:25 300 150.0 (=] 1Ri%@12:25 Bzl (REERSE)
13:25 300 150.0 |Z=| 1Ri&e13:25 Bz (RB{EEE)
14:25 300 150.0 (2 =| Ri%e14:25 Bz (kBFERSE)
23t 2400.0 (8%) 1200.0 329333 KEC: 2080.0, PH: 6.0

TERRHLER 2 STEEARTF (195.0 :

ZRIALBRERE153.0 ml.

HEEIHECE (2660. 0 vs 4420.0) 05

153.0), AlEEHT—@ % XA HS
AEREMEC (2660.0) 5i%EEC (2000.0) RELK KA, B/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10 0, Day=44 (2025-05-16)

B f————f————f————f—— ———— — —
VI, VOUBRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1950
- 2000
100 41500 1600 §530
066
5 19L 1000
20 80
Warning: lcol [FVI',| "FVO’'] missing
0 + -0
( — ME $30
200 maxM
- 28
- 26 =
100 +
L 24
- 22
1.0
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
s00] ByInit @D45 03:04: ET=1083 Fg=1350.0 Ro=318.0 2000
1
: - 1500
200 A i
: - 1000
1
100 - I L 500
)—o—0—¢—o
0 pb—a PN 4 PN 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 9000
3001Z2E 2= | 55| W BH | g | BG | BE | B | BE i 5 5 5 B 5 5 5 | m | ™ | W™ | W[ R | MW
1
ByEt @D44 19:06: ET=1068 Fg=1500. 0 Ro=nan 2 & 1 & ) & © - 1500
200 A —& e & .
- 1000
100 - L 500
——S @ ©
0-!—. — - F=N 0
0 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 9000
B EZNEZSNEZIN FH PR | B | B8 | B |Zr|(Z2a|25|25|25 |26 Z25(25|(25|25] B | KM/ m[Xm]| M
1
ByWoFv @D45 p3:04: ET=919 [Fg=1200. 0 Ro=261.0 - 1500
200 A i
: - 1000
1
100 - I L 500
—o—o—4¢
1_0_n_?r_a~ {—~a; 5 4 0
NREZAEZAEZI N FH PR | B | B8 | B |Zr|(Z2a|25|25|25 |26 Z25(25|(25|25] B | KM/ m[Xm]| M
0.6 -
0.4 1
0.2 A
0.0
—_— 4
[ ] | _obs
1000 —@— PPFD obs
500 A
100 ~ F ]
e v #

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



28.

m=465, FV0=0 m=515, FV0=0 m=580, FV0=0
25. 28.0 - —&— ME
28 |
27 ”s 27.
27.5 1
26
24. 26.
25 1 27.0 -
24 - 23. 26.
—o— ME 26.5 -
23 - T T T T T T T T T T
600 800 1000 470 475 520 525 580 585 590
m=635,m FV0=0 m=690,m FV0=0 m=745,m FV0=0 m=800,m FV0=0
0 -
28.0 -
28. 0 -
27.5 1
27.5 1
27.5 1
27.0 1
27.0 1
27.0 1
26. 5 -
T T T T T T T T T T T T
635 640 645 690 695 700 745 750 755 800 805 810
m=845,m FV0=0 m=890,m FV0=0 m=960,m FV0=0 m
—e— ME 28.5 1 —o— ME —e— ME 58
28.0 -
28.0 -
36
27.5 1
27.5 H 34 -
27.0
27.0 - 26. 5 - 2
—— MW
845 850 855 890 895 900 960 965 970 600 800 1000
m=465,m FV0=0 m=515,m FV0=0 m=580,m FV0=0 m=635,m FV0=0
39 39
—— MW .8 —— MW —— MW —— MW
38 38
37
37 37 4
36 |
36 36
35 .
35
465 470 475 515 520 525 580 585 590 635 640 645



m=690, FV0=0

38

37

36 -

35 A

—— MW

690

T T
695 700

m=890,m FV0=0

38

37 A

36

—— MW

890

T
895 900

m=745, FV0=0
—— MW
38 -
37 A
36
35 -
T T T
745 750 755
m=960,m FV0=0
—— MW
38 -
37 A
36
35 15 :
960 965 970

m=800, FV0=0
38 - —0— MW
37 A
36
35 A
34 L T T
800 805 810

m=845, FV0=0
—— MW
38 A
37 A
36
35 -
845 850 855




hour

:00 -

105 -

140
:35
125
115
110
:00
155

&S

100

80

- 60

- 40

20



P3-10

BriE) [ EBIETK (D) | EHE (EH/HK) | XK ERE

07:10 294 150.0 |Z=| 1Ri&e07:10 Bzh (GREB{EEEE)
08:00 294 150.0 |Z=| 1Ri&@08:00 Bzl (kFA{EEE)
08:50 294 150.0 |Z=| 1Ri&@08:50 Bz (KPB{EEE)
09:50 294 150.0 FH| 1Bi%@09:50 Bah (RAEREE)
10:40 294 150.0 BE| 1Ri%e10:40 B (REERER)
11:35 294 150.0 BE| BRi%e11:35 Bz (GREAERSE)
12:25 294 150.0 B Rige12:25 Bz (REAERSE)
13:15 294 150.0 el Rige13:15 Bal (REAEHE)
14:10 294 150.0 el Rige14:10 Bz (REAEHE)
15:00 294 150.0 RS Ri%@15:00 Bzl (REERER)
15:55 294 150.0 RS {Rige15:55 Bz (REERSE)
23t 3234.0 (11)%) 1650. 0 32 F%KEC: 2080.0, PH: 6.0

MEREHERE STMAEARS (195.0 : 162.0), AIREHTF—@E XAH4
ZRIALPRERLE162.0 ml.

REXEEBIEC (2715.0) 5% FEEC (2000.0) REKR KA, FHE
HEEIHECE (2715.0 vs 4360.0) 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=43 (2025-05-15)

150 A

100 A

50

200 A

100 A

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2113
1500
730 37

20
172 Warning: lcol ['FVI',| "FVO'] missing

FRV

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

Bylnit @45 03:04: ET=1072 Fg=1707.0 Ro=534.0

ke L L

) —o—0—4—o—o

PN N W — N

955 L 1000

0

| Vi —_ ME 4 30.0

-27.5

-22.5

- 20.0

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

200 -

100 A

E3 E3 ES ES E3 E3 ES — — ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
i H5 H5 i i H5 FREESRES N G 5 B B 5 5 B B 5 A B 5 G A

ByEt @D43 18:55: ET=1310 Fg=1725. 0 Ro=nan © ® ©
e e ©

2000

- 1000

0 V=N V=N
40040 1 2 3

7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

S
($]
(=2]

300 -

200 -

100 A

BB | BB |k BB |Z2=(%=| B | K [ | i5 | R [BF | #F | B [ |8 [B (X2 B |35

Tt

I
ByWoFv @D45 03:04: ET=1163 Fg=1650.0 Ro=401.0

2000

- 1000

1.0

10 11 12 13 14 15 16 17 18 19 20 21 22 23

o
—_
N
w
N
(S}
»
~
o0}
©

0.8

0.6

0.4+

0.2~

PR s [ [ BE | s (BB |5 |’ [BE | S | B [BZ|%=| B |B=

™
T
f==1
T
f==1
T0H
E=-1
Tt
™
T
f==1
T
f==1
T0H
W
M
W
M

0.0

—_—
o | _obs
—@— PPFD obs

RH
RH_obs
RHo _obs

FRV (ml d-1)

- 25.0

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



27.

21.

27.

27.

26.

26.

26.

27.

27.

27.

26.

26.

26.

28 -

27 -

26 -

25 A

24

23 -

22 -

—O—

M_E

T
600

860
m=635,n FV0=0

T
1000

75 1

50 -

25 A

00 ~

75 -

50 A

25 -

——

M_E

6&0 6&5
m=845,n FV0=0

50 ~

25 -

00 ~

75 -

50 A

25 A

845

850 855

38 A

36

34 -

32 -

30 A

28 A

26 -

MW

600

800

1000

24

23.

23.

22.

27.

21.

27.

27.

26.

26.

27.

27.

27.

27.

26.

26.

m=495, FV0=0

M_E

560 565
m=675,n FV0=0

GéO 6é5
m=885,n FV0=0

—o— M_E

860 855
m=495,n FV0=0

885

32 -

30 -

28 -

- MW

7
7

495 500 505

25.

25.

25.

25.

24.

24.

24.

27.

27.

27.

26.

26.

26.

27.

27.

27.

26.

26.

26.

m=535, FV0=0

75 4

50 -

25 -

00 ~

75

50 -

25 A

M_E

T T
555 560 565

m=735,m FV0=0

50 A

25 -

00 ~

75

50 -

25 A

—&— M_E

7&0 7&5
m=940,n FV0=0

50 A

25 -

00 ~

75 -

50 A

25 A

9&5 950
m=555,n FV0=0

940

35 A

34 -

33 A

32 -

31

30 A

29 A

-— MW

555 560 565

m=590, FV0=0
26.751 —@— M_E
26. 50
26. 25
26. 00
25.75
25. 50
25. 25 15 , ,
590 595 600
m=790,m FV0=0
27.50 4 @~ ME
27.25
27.00
26. 75 -
26. 50
26. 25 -
790 795 800
m=995,m FV0=0
—e— ME
27.5 -
27.0 -
26. 5 -
995 1000 1005
m=590,m FV0=0
371 —o— MW
36 -
35 -
34 -
33 -
32 -

590 595 600




m=635, FV0=0

38 -

37 A

36

35 A

34 A

33

—0—

M_W

635

T T
640 645

m=845,m FV0=0

37 A

36

35 -

34 -

—0—

M_W

845

850 855

m=675, FV0=0
—— mw
38 -
37
36 -
35
T T T
675 680 685
m=885,m FV0=0
28 —— mw
37 -
36
35
T T
885 890 895

m=735, FV0=0

38

37 A

36

35 A

34

—0—

MW

T
735

T T
740 745

m=940,m FV0=0

38

37 A

36

35 -

—0—

M_W

T
940

945 950

m=790, FV0=0
—— MW
37 -
36 -
35 -
34 -
T T T
790 795 800
m=995 m FV0=0
—— MW
38 -
37 -
36 -
35 -
T T T
995 1000 1005




hour

125

105

145

125

:00 -

215 -

145 -

100

80




P3-10

BfiE) | EBIETK (D) | EB=E (EH/EK) | XK EFE
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15:35 294 150.0 (=] 1Ri%@15:35 Bz (REEESE)
24t 1764.0 (6%) 900. 0 3ESHKEC: 2080.0, PH: 6.0
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